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(1) BADHE (HEAZ: T, %)
# H CRG W
% | IH H30 H31 4 R
1 4K OEM4 | 3,000,000] 3,000,000 0 0.0
2 fERRE R O HcE) 180,001 180,001 0 0.0
1 fEAE 1 1 0 0.0
2 FEE 180,000 180,000 0 0.0
4 PEIA 931 536 A\ 395| A\ 42.4
5 MRA® 1 1 0 0.0
6 Mellie 1 1 0 0.0
7 FIA 16,770 16,102 A 668| A 4.0
aF 3,197,704 3,196,641 A 1,063 0.0
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k| = H 8 [mee] vE S| @ Es
1 maE 3,636 0.1 4,343 0.1 707 19.4
2 WwEE 511,127 16.0| 1,009,473| 31.6 498,346 97.5
1 MBE 510,717 16.0| 1,009,059| 31.6 498,342 97.6
1 s e 69,786 2.2 78,523 2.5 8,737 12.5
2 MBUE PR 440,931 13.8 930,536  29.1 489,605 111.0
2 EALEE 410 0.0 414 0.0 4 1.0
3 ML 1,714,675 53.6| 1,827,463 57.2 112,788 6.6
INRCE L ¢ 1,714,675| 53.6| 1,827,463 57.2 112,788 6.6
1 7)—rvoh—#| 1,387,411  43.4| 1,465,072  45.8 77,661 5.6
2 —b a2 293,646 9.2 314,454 9.8 20,808 7.1
3 AEFI IR B 33,618 1.1 47,937 1.5 14,319 42.6
4 INEE 958,266  30.0 345,362  10.8] A 612,904 A 64.0
1 NEE 958,266|  30.0 345,362|  10.8| A 612,904 A 64.0
1 Jod 944,284  29.5 341,769  10.7| A 602,515 A 63.8
2 Fl+ 13,982 0.4 3,593 0.1 A 10,389 A 74.3
5 Tt 10,000 0.3 10,000 0.3 0 0.0
a @ 3,197,704 100.0[ 3,196,641 100.0| A 1,063 0.0
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0 %gg%gﬁiﬂ 558,370 56 0 56 1| 558495
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§ Zigﬁfr fﬁﬁgég(ﬁ 3,884,413 4731930,000] 930,473 0| 4,814,886
0 %Eﬁgiyﬁi'ﬁ 66,093 7 0 7 0 66,100
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